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6HSWHPEHU��������� 
 

��� <($56� $1'� &2817,1*�� � ,Q� WKH� YDVW� VFKHPH� RI�
WKLQJV����\HDUV�LV�D�UHODWLYHO\�VKRUW�SHULRG�RI�WLPH���%XW�LQ�
WKH�KLVWRU\�RI�WKH�6ORYHQLDQ�SHRSOH�����\HDUV�DV�D�VRYHUHLJQ��
LQGHSHQGHQW� QDWLRQ� LV� VWLOO� ZRUWK� FHOHEUDWLQJ�� � 7KH�
6ORYHQLDQ� SHRSOH� KDYH� DOZD\V� EHHQ� D� VPDOO� QDWLRQ�� OLYLQJ�
IRU� FHQWXULHV� SULPDULO\� DV� D� SDUW� RI� WKH� $XVWUR-+XQJDULDQ�
(PSLUH�� � ,Q� LWV� VWUDWHJLF� ORFDWLRQ�� WKHUH� ZDV� WUHPHQGRXV�
SUHVVXUH� SXW� RQ� WKH� SHRSOH� WR� *HUPDQL]H�� ,WDOLDQL]H��
0DJ\DUL]H�DQG�HYHQ�%DONDQL]H���%XW�WKHUH�ZDV�D�UHVLOLHQFH�
DQG� VWHDGIDVWQHVV� LQ� WKH� 6ORYHQLDQV� WR� SUHVHUYH� WKHLU� RZQ�
XQLTXH� ODQJXDJH�� WKHLU� FXVWRPV�� WKHLU�PXVLF�� WKHLU� FXOWXUH��
RIWHQWLPHV�ZLWK�WKH�VXSSRUW�DQG�GHWHUPLQDWLRQ�RI�WKH�QDWLYH�
FOHUJ\��� 
���'HFODULQJ� KHU� LQGHSHQGHQFH� LQ� ������ 6ORYHQLD� IRXJKW� D�
VKRUW� ��-GD\� ZDU� WKDW� WXUQHG� D� GUHDP� LQWR� UHDOLW\�� � 7KH�
GUHDP�RI�IUHHGRP�LV�D�SRZHUIXO�GUHDP���,W�LV�WKDW�GUHDP�WKDW�
ZH� FHOHEUDWH� KHUH� LQ� &OHYHODQG� WRGD\�� DORQJ� ZLWK� RXU�
GLJQLWDULHV� IURP� 6ORYHQLD�� � ,W� ZDV� D� GUHDP� WKDW� ZDV�
VXSSRUWHG�DQG�IRXJKW�IRU�LQ�WKH�SROLWLFDO�DUHQD�E\�VR�PDQ\�
$PHULFDQ-6ORYHQLDQV��HVSHFLDOO\�KHUH�LQ�&OHYHODQG���,W�LV�D�
GUHDP�WKDW�LV�VWLOO�QHFHVVDU\�WR�GHIHQG�DQG�VWUHQJWKHQ�IURP�
FRPSODFHQF\�DQG�IDOVH�QRVWDOJLD���7RGD\�ZH�WKDQN�*RG�IRU�
WKH�FRXUDJH�WKDW�JDYH�ELUWK�WR�D�QDWLRQ����\HDUV�DJR��DQG�ZH�
EHVHHFK�$OPLJKW\�*RG� IRU� WKDW� VDPH� IRUWLWXGH� WR� FRQWLQXH�
WKH� MRXUQH\� RI� IUHHGRP�ZLWK� D� JUHDWHU� RSHQQHVV� WR�*RG¶V�
EOHVVLQJV� RI� ZLVGRP� DQG� ULJKW� MXGJHPHQW�� � 0D\� JUHDWHU�
UHVSHFW�� DSSUHFLDWLRQ�� UHFRQFLOLDWLRQ�� DQG� SHDFH� EH� *RG¶V�
JLIW�WR�6ORYHQLD�DQG�LWV�SHRSOH�IRU�PDQ\�\HDUV� 
���:H� WUXO\� WKDQN� 'U�� +HOHQD� -DNOLWVFK�� 0LQLVWHU� IRU�
6ORYHQLDQV� /LYLQJ� $EURDG�� 6ORYHQLDQ� $PEDVVDGRU� WR� WKH�
8�6��7RQH�.DM]HU��'U��=YRQH�äLJRQ��DQG�6ORYHQLDQ�*HQHUDO�
&RQVXO� $OHQND� -HUDN� IRU� EHLQJ� ZLWK� XV� WRGD\� IRU� WKLV�
LPSRUWDQW�FHOHEUDWLRQ�� 
 
������ $11,9(56$5<� &(/(%5$7,21� $7�
6/29(16.$� 35,67$9$� ,6� 72'$<� DW� 6ORYHQVND�
3ULVWDYD�RQ�%UDQGW��5G���$�VWXIIHG�SRUN�ORLQ�GLQQHU�������RU�
þHYDSþLþL� GLQQHU� ������ ZLOO� EH� VHUYHG� EHJLQQLQJ� DW� �����
S�P�� � 7KHUH� ZLOO� EH� D� FXOWXUDO� SURJUDP� DW� ����� S�P�� DQG�
DZDUGV�FHUHPRQ\���0XVLF�E\�9HVHOL�*RGFL���)UHH�HQWUDQFH���
7KLV� HYHQW� LV� VSRQVRUHG� E\� WKH� 6ORYHQLDQ�&RQVXO�*HQHUDO�
$OHQND�-HUDN�WR�FHOHEUDWH�WKH���WK�DQQLYHUVDU\�RI�6ORYHQLDQ�
LQGHSHQGHQFH� DQG� WKH� ��WK� DQQLYHUVDU\� RI� WKH� IRXQGLQJ� RI�
6ORYHQVND� 3ULVWDYD�� � 2XU� 6ORYHQLDQ� GLJQLWDULHV� IURP�
6ORYHQLD�ZLOO�DOVR�EH�LQ�DWWHQGDQFH��� 
 
0$<�*2'¶6�+2/<�$1*(/6�/($'�86�$1'�*8,'(�
86�� � :HGQHVGD\�� 6HSWHPEHU� ��WK� LV� WKH� IHDVW� GD\� RI� WKH�
+RO\�$UFKDQJHOV�0LFKDHO��:KR�LV�OLNH�*RG���*DEULHO��7KH�
6WUHQJWK�RI�*RG��DQG�5DSKDHO��*RG¶V�5HPHG\����6DWXUGD\��
2FWREHU��QG�LV�WKH�)HDVW�RI�WKH�*XDUGLDQ�$QJHOV���³$QJHO�RI�
*RG��P\�JXDUGLDQ�GHDU�� WR�ZKRP�*RG¶V� ORYH�FRPPLWV�PH�
KHUH���(YHU�WKLV�GD\�EH�DW�P\�VLGH�WR�OLJKW�DQG�JXDUG��WR�UXOH�
DQG�JXLGH��$PHQ�´ 

 

/DVW�6XQGD\¶V�2IIHULQJ��������� 
&KXUFK�1HHGV������LQ�PHPRU\�RI�'DQHWWD�.R]HO�
IURP�0DWW�	�0DU\�$QQ�+R]MDQ� 
+LJK�6FKRRO�6FKRODUVKLS�)XQG�������DQRQ\PRXV� 
 

<RXU�JHQHURVLW\�WR�WKH�SDULVK�LV�DSSUHFLDWHG� 
 

.52)(� 6$/(�� �$OWDU�6RFLHW\�ZLOO�KDYH�D�.URIH�6DOH�RQ�
6DWXUGD\�� 6HSWHPEHU� ��WK� EHJLQQLQJ� DW� ����� D�P�� LQ� WKH�
SDULVK�KDOO� 
 

67��0$5<�$/7$5�62&,(7<�%(1(),7�',11(5�ZLOO�
EH� VHUYHG� LQ� RXU� SDULVK� KDOO� RQ� 6XQGD\��2FWREHU� �UG� IURP�
������ D�P�� WR� ����� S�P�� � 'RQDWLRQ� IRU� WKH� URDVW� SRUN�
EUHDGHG� FKLFNHQ� GLQQHU� LV� ���� IRU� DGXOWV� DQG� ��� IRU�
FKLOGUHQ���7KH�GLQQHU�DOVR�LQFOXGHV�VRXS���7KHUH�ZLOO�DOVR�EH�
D�EDNH�VDOH�LQ�FRQMXQFWLRQ�ZLWK�WKH�GLQQHU���7LFNHWV�PD\�EH�
SXUFKDVHG� IURP� $OWDU� 6RFLHW\� PHPEHUV�� LQ� WKH� UHFWRU\�
RIILFH�DQG�DW�WKH�GRRU�RQ�WKH�GD\�RI�WKH�GLQQHU��� 
� 
5(9(56(� 5$))/(�� VSRQVRUHG� E\� 6W��0DU\� 6ORYHQLDQ�
6FKRRO�ZLOO�EH�LQ�WKH�SDULVK�KDOO�RQ�6DWXUGD\��2FWREHU���WK���
%HJLQQLQJ� DW� ����� S�P�� D� ZHLQHU� VFKQLW]HO�FKLFNHQ�
SDSULNDVK� GLQQHU� ZLOO� EH� VHUYHG�� � 2SHQ� EDU� DQG� GHVVHUW�
LQFOXGHG�� � 0DLQERDUG� WLFNHWV�� LQFOXGLQJ� WZR� GLQQHUV� DUH�
����� � )RU� PRUH� LQIRUPDWLRQ� RU� WLFNHWV�� SOHDVH� FRQWDFW�
.ULVWLQD�6HGPDN�DW����-���-������RU�SDUHQWV�RI�6ORYHQVND�
âROD� 
 

&$//,1*� $//� 6,1*(56���� �2XU�6W��0DU\�������D�P��
0DVV� &KRLU� ZLOO� EHJLQ� UHJXODU� SUDFWLFH� RQ� :HGQHVGD\��
2FWREHU� �WK� DW� ����� S�P�� �:H� DUH� DOZD\V� ORRNLQJ� IRU� QHZ�
PHPEHUV�� HVSHFLDOO\� DPRQJ�RXU�\RXQJHU�SDULVKLRQHUV�� DQG�
LQYLWH�\RX�WR�FRPH�DQG�VLQJ�ZLWK�XV���:H�KDYH�D�ZRQGHUIXO�
WUDGLWLRQ�RI�EHDXWLIXO�6ORYHQLDQ�PXVLF�LQ�WKH�SDULVK��EXW�ZH�
QHHG�RXU�\RXQJHU�SHRSOH� WR�NHHS� WKDW� WUDGLWLRQ� VWURQJ�DQG�
YLEUDQW� 
 

2.72%(5)(67�� �6ORYHQVND�3ULVWDYD�LQYLWHV�\RX�WR�MRLQ�
LQ� WKH� IXQ� RI� 2NWREHUIHVW� RQ� 6DWXUGD\�� 2FWREHU� �QG�� � 7KH�
ZHLQHU�VFKQLW]HO��EUDWZXUVW�GLQQHU�ZLOO�EH�VHUYHG�IURP������
S�P�� WR� ����� S�P�� � 7KH� *RWWVFKHHU� %ODVNDSSHOOH� EHJLQV�
SHUIRUPLQJ�DW������S�P���'LQQHU�WLFNHWV�PXVW�EH�UHVHUYHG�E\�
FDOOLQJ� 8UVL� 3URVHQ� DW� ���-���-����� RU� HPDLO�
XUVXODSURVHQ#JPDLO�FRP�� � 7KHUH� LV� D� ��� HQWUDQFH� IHH� IRU�
QRQ-3ULVWDYD�PHPEHUV���$OO�DUH�ZHOFRPH��*HPXWOLFKNHLW�� 
 

.2/,1(�� � 6ORYHQVND� 3ULVWDYD� 3HQVLRQHUV�ZLOO� KDYH� WKHLU�
DQQXDO�.ROLQH�RU�6DXVDJH�'LQQHU�RQ�6XQGD\��2FWREHU���WK�
KHUH�LQ�RXU�6W��0DU\�SDULVK�KDOO���7KH�ULFH�RU�EORRG�VDXVDJH��
IUHVK� JDUOLF� VDXVDJH�� 6ORYHQLDQ� SRWDWRHV�� VDXHUNUDXW�� DQG�
GHVVHUW�GLQQHU�ZLOO�EH�VHUYHG�IURP�������D�P��WR������S�P���
'RQDWLRQ� LV� ����� � )RU� PRUH� LQIRUPDWLRQ�� SOHDVH� FRQWDFW�
)UDQN� 9LGPDU� DW� ���-���-������ � 5HVHUYDWLRQV� DUH� QRW�
QHFHVVDU\��DQG�HYHU\RQH�LV�ZHOFRPH�� 
 

7$52.� 72851$0(17�ZLOO� EH� DW� 6ORYHQVND�3ULVWDYD�
RQ�6XQGD\��2FWREHU���DW������SP���$OO�SOD\HUV�DUH�ZHOFRPH� 
 
 

72'$<¶6�36$/0�5(63216(� 
7KH�/RUG�XSKROGV�P\�OLIH� 

 



 

0DVVHV�IRU�WKH�:HHN�RI�6HSWHPEHU���-�������� 
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6$1*�	�&203$1,216��0DUW\UV� 

 �����D�P� �0DUJDUHW��3HJJ\��3RQLNYDU�����'D\� 
7XHVGD\� �������67��0$77+(:��$SRVWOH�	�

(YDQJHOLVW� 
 �����D�P� �-RKQ�.RWDUVNL�����'D\� 
:HGQHVGD\� �������:((.'$< 
 �����D�P� *HRUJH�3RSH��:LIH��-RDQQD� 
7KXUVGD\� �������67��3,86�2)�3,(75(/&,1$�

�3ULHVW��� 
��� �����D�P� �'DQHWWD�.R]HO����'D\� 
)ULGD\� �������%/(66('�$1721�0$57,1�

6/20â(. 
 �����D�P� 3DYOH�%RUãWQLN��:LIH��0LUD� 
6DWXUGD\� �������:((.'$< 
 �����D�P� -RåH�7RPLQF��'DXJKWHU���0DU\� 
 �����S�P� 0DU\�)HUUD]]ROL��6RQ��(GZDUG� 
6XQGD\� �������7:(17<-6,;7+�681'$<�,1�

25',1$5<�7,0( 
 �����D�P� 3DULVKLRQHUV 
 ������D�P� $QWRQ�*RUVKH��:LIH�	�)DPLO\� 
 ������S�P� 0LFL�0RKDU��)DPLO\� 
���� 
3OHDVH� 3UD\� IRU� 2XU� 6LFN�� -RVHSK�*RUQ��1RUDK�.RQUDG���
$QLFD� .QH]�� 5H]L� )HUNXO�� %UDQNR� 3LãRUQ�� 7RP�0F1XOW\��
0ODGHQ�	�'XãDQND�/HQJHO��0DULH�2JULQF��7HG�-HQGD��)UHG�
%URZQ 
 

0D\�6KH�5HVW�LQ�*RG¶V�3HDFH� 
�������������������)UDQFHV�5X]LF�� 
���� 

��/HFWRUV�([WUDRUGLQDU\�0LQLVWHUV 
�:HHNHQG�RI�6HSWHPEHU���WK�6HSWHPEHU���WK� 

 
6DWXUGD\ �����S�P� -HDQQH�0DWXFK�3DXO�/LSROG 
6XQGD\ �����D�P� )ORULDQ�2VUHGNDU�.DWKOHHQ�6SLODU 
 ������D�P� 0HWND�=DODU�7RP�.DVWHOLF 
 ������S�P� $QGUHZ�/LSWDN�0DU\�2MQLN 
����� 
1$-�%2ä-,�69(7,�$1*(/,�92',-2�,1�9$58-(-2�1$6���
9�VUHGR������VHSWHPEUD�MH�SUD]QLN�VYHWLK�QDGDQJHORY��0LKDHO��NL�
MH�NDNRU�%RJ���*DEULMHO� �PRþ�%RJD��� LQ�5DIDHO� �%RåMH�]GUDYLOR����
9� VRERWR�����RNWREUD� MH�SUD]QLN�QDãLK�$QJHORY�YDUXKRY�� � ³6YHWL�
DQJHO�� YDUXK�PRM�� ERGL� YHGQR� WL� ]PHQRM�� 6WRM�PL� QRþ� LQ� GDQ� RE�
VWUDQL��YVHJD�KXGHJD�PH�EUDQL���3UDY�SULVUþQR�SURVLP�WH��YDUXM�PH�
LQ�YRGL�PH��$PHQ�´���� 
 

�5(9(56(� 5$))/(�� NL� JD� VSRQ]RULUD� 6ORYHQVND� ãROD�0DULMH�
9QHERY]HWH�ER�Y�VRERWR�����RNWREUD���=DþHWHN�MH�RE������]YHþHU���
6HUYLUDOL� ERGR� VYLQMLVNL� GXQDMVNL� ]UH]HN� LQ� SLãþDQþML� SDSULNDã���
2GSUWD� WRþLOQLFD� LQ� VODãþLFD� MH� YNOMXþHQR�� �0DLQERDUG� VUHþNH� LQ�
GYH�YHþHUML� VR������ �=D�YHþ� LQIRUPDFLM�� SURVLPR�NOLþLWH�.ULVWLQR�
6HGPDN�QD����-���-������DOL�VWDUãH�6ORYHQVNH�ãROH� 
 

2.72%(5)(67�� � 6ORYHQVND� 3ULVWDYD� YDV� YDEL� QD� ]DEDYQR�
2NWREHUIHVW� Y� VRERWR�� ��� RNWREUD�� � :HLQHU� 6FKQLW]HO�EUDWZXUVW�
YHþHUMD� ER� VHUYLUDQD� RG� ����� GR� ����� ]YHþHU�� � *RWWVFKHHU�
%ODVNDSSHOOH�ERGR�]DþHOL�LJUDWL�RE������]YHþHU���9HþHUMR�MH�QXMQR�
UH]HUYLUDWL��]DWR�NOLþLWH�8UãL�3URVHQ�QD����-���-�����DOL�SR�HPDLO�
QD� XUVXODSURVHQ#JPDLO�FRP�� � =D� QHþODQH� MH� YVWRSQLQD� ���� �9VL�
VWH�GREURGRãOL���*HPXWOLFKNHLW������� 

 

'$1(6�-(�����1$9$'1$�1('(/-$ 
 

��� /(7� ,1� â7(-(02�� 9� YHOLNLK� QDþUWLK� VWYDUL� MH� ��� OHW�
UHODWLYQR�NUDWND�GRED�þDVD���7RGD�Y�]JRGRYLQL�6ORYHQFHY��MH����OHW�
NRW� VYRERGHQ� QDURG� ãH� YHGQR� YUHGQR� SUD]QRYDWL�� � 6ORYHQFL� VR�
YHGQR� ELOL� PDMKHQ� QDURG� VWROHWMD� Y� JODYQHP� NRW� GHO� $YVWUR-
2JUVNHJD�FHVDUVWYD���9�VYRML�XJRGQL�ORNDFLML�MH�ELO�YHOLN�SULWLVN�QD�
OMXGL�� GD� VH� SRQHPþLMR�� SRLWDOLMDQãþLMR�� SRPDGåDULMR� LQ� FHOR�
SREDONDQLMR�� �7RGD�ELOD� MH�SURåQRVW� LQ� VWDQRYLWQRVW� Y�6ORYHQFLK��
GD�RKUDQLMR�QMLKRY�HGLQVWYHQ�MH]LN��QMLKRYH�ãHJH��QMLKRYR�JODVER��
QMLKRYR� NXOWXUR� YHOLNRNUDW� V� SRGSRUR� LQ� RGORþQRVWMR� QMLKRYLK�
GXKRYQLNRY�� �3URJODVLWHY�QMHQH�QHRGYLVQRVWL�Y�������VH�MH�ERULOD�
6ORYHQLMD� Y����GQL� NUDWNL� YRMQL�� NL� MH� REUQLOD� VDQMH�Y� UHVQLþQRVW��
6DQMH�VYRERGH�VR�PRþQH�VDQMH���,Q�VR�WH�VDQMH��NL�MLK�PL�REKDMDPR�
GDQHV�WXNDM�Y�&OHYHODQGX��]�QDãLPL�GRVWRMDQVWYHQLNL�L]�6ORYHQLMH��
%LOH�VR�VDQMH��NL�VR�ELOH�SRGSUWH�]�ERUER�Y�SROLWLþQL�DUHQL�PQRJLK�
$PHULãNLK-6ORYHQFHY��SRVHEQR�WXNDM�Y�&OHYHODQGX���6R�VDQMH��GD�
MH� ãH� YHGQR� SRWUHEQR�� GD� MLK� EUDQLPR� LQ� RNUHSLPR� RG�
VDPR]DGRYROMVWYD�LQ�]PRWHQH�QRVWDOJLMH���'DQHV�VH�]DKYDOMXMHPR�
%RJX� ]D� SRJXP�� NL� MH� GDO� URMVWYR� QDURGX� SUHG� ��� OHWL� LQ� PL�
SURVLPR�9VHPRJRþQHJD�%RJD�]D�LVWR�WUGQRVW��GD�VH�QDGDOMXMH�SRW�
VYRERGH� � ]� YHþMR� RGSUWRVWMR� %RåMHPX� EODJRVORYX�� VWUSQRVWL��
PRGURVWL� LQ� SUDYLþQHJD� VYHWD�� � 1DM� YHþMH� VSRãWRYDQMH��
YUHGQRWHQMH�� VSUDYD� LQ� PLU� ER� %RåML� GDU� 6ORYHQLML� LQ� QMHQHPX�
OMXGVWYX� ãH� PQRJR� OHW�� � 0L� VH� L]� VUFD� ]DKYDOMXMHPR� GU�� +HOHQL�
-DNOLWVFK��0LQLVWULFL�]D�6ORYHQFH�SR�VYHWX��9HOHSRVODQLNX�Y�='$�
7RQHWX� .DM]HU�� GU�� =YRQHWX� äLJRQ� � LQ� 6ORYHQVNL� *HQHUDOQL�
.RQ]XODWNL� $OHQNL� -HUDN�� GD� VWH� GDQHV� ]� QDPL� ]D� WR� SRPHPEQR�
SUD]QRYDQMH� 

������ 2%/(71,&,� 35$=129$1-$� 1$� 6/29(16.,�
35,67$9,� -(� '$1(6�� � .RVLOR� ER� QDGHWD� VYLQMVND� SHþHQND�
������DOL�þHYDSþLþL��������NL�ER�VHUYLUDQR�RE������SRSROGDQ���2E�
����� XUL� SRSROGDQ� ER�.XOWXUQL� SURJUDP� LQ� QDJUDGH�� � =D� ]DEDYR�
ERGR� LJUDOL� 9HVHOL� JRGFL�� � 7D� GRJRGHN� VSRQ]RULUD� *HQHUDOQD�
.RQ]XODWND�$OHQND�-HUDN�]D�SUD]QRYDQMH�����REOHWQLFH�6ORYHQVNH�
QHRGYLVQRVWL� LQ� ���� REOHWQLFH� XVWDQRYLWYH� 6ORYHQVNH� 3ULVWDYH���
1DãL�JRVWMH��GRVWRMDQVWYHQLNL�ERGR�WXGL�QDY]RþL���9VWRSQLQH�GDQHV�
QL� 

.52),�� � 2OWDUQR� 'UXãWYR� LPD� SURGDMR� NURIRY� Y� VRERWR� ����
VHSWHPEUD��=DþHWHN�MH�RG������]MXWUDM�Y�åXSQLMVNL�GYRUDQL� 
2/7$512� '58â792� 0$5,-(� 91(%29=(7(� ,0$�
.26,/2� Y� QHGHOMR� RG� ������ GRSROGQH� GR� ����� SRSROGQH� Y�
åXSQLMVNL� GYRUDQL�� � 6HUYLUDOL� ERGR� MXKR�� VYLQMVNR� SHþHQNR� LQ�
SRKDQHJD�SLãþDQFD���'DU�MH�����]D�RGUDVOH�LQ����]D�RWURNH���,PHOL�
ERGR�WXGL�SURGDMR�SHFLYD�SRYH]DQR�V�NRVLORP���9VWRSQLFH�GRELWH�
SUL�þODQLFDK�GUXãWYD��Y�åXSQLãþX�DOL�SUL�YUDWLK�QD�GDQ�NRVLOD� 

.2/,1(�� � 8SRNRMHQFL� 6ORYHQVNH� 3ULVWDYH� ERGR� LPHOL� QMLKRYR�
OHWQR�NRVLOR�V�.ROLQDPL�WXNDM�SUL�0DULML�9QHERY]HWL�Y�QHGHOMR�����
RNWREUD� V� VHUYLUDQMHP� RG� ������ GRSROGQH� GR� ����� SRSROGDQ���
.RVLOR� MH� ULåHYD� DOL� NUYDYD� NOREDVD�� SHþHQLFH�� SUDåHQ� NURPSLU��
NLVOR� ]HOMH�� VODGLFD� LQ� NDYD�� � 'DU� MH� ����� � =D� YHþ� LQIRPDFLM��
SURVLPR� NOLþLWH� )UDQND� 9LGPDU� QD� ���-���-������ � 5H]HUYDFLMH�
QLVR�SRWUHEQH� 

./,ý(02� 3(9&(���� � 1Dã� FHUNYHQL� SHYVNL� ]ERU� SUL�PDãL� RE�
������XUL�ER�]DþHO�V�SHYVNLPL�YDMDPL�Y�VUHGR����RNWREUD�RE������
]YHþHU���0L�YHGQR�JOHGDPR�]D�QRYH�SHYFH�LQ�SHYNH��SRVHEQR�PHG�
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